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1 a Nicotine increases the percentage of abnormal sperm cells / the greater the quantity of

nicotine given, the greater the percentage of abnormal sperm cells.
b to get toan egg/ to fertilise an cgg
¢ Any three from the following:
cach sperm cell contains cither an X or a Y chromosome
sperm cell fuses with an egg cell containing an X chromosome
A new cell / fertilised egg / zygote, contains cither XX or XY chromosomes
XX gives female and XY gives male

2 DNA: a chemical with molecules shaped like a twisted ladder

chromosome:  a thread-like structure contained in the nucleus of a cell
gene: part of a chromosome that helps to determine a characteristic

inheritance: the passing on of DNA from parents to offspring
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D and C correct
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b natural selection
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7.4 a A substance that kills bacteria (but does
not harm humans).
b The percentage of cases of penicillin-
resistant pneumonia has increased.

< Any two from:

+ This happened because penicillin was
used to treat infections.

+ Any bacteria that happened to be
resistant to penicillin survived and
reproduced.

+ Their offspring inherited the genes
that made them resistant.

If penicillin continues to be used over time,
the proportion of bacteria that are resistant to
penicillin increases.
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